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3) A flag pole casts a shadow 3 meters long. A woman near the pole casts a shadow 0.75 meters long. The
woman is 1.5 meters tall. How tall is the flag pole?
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WORKSHEET - SIMILAR POLYGOMNS & TRIANGLES (p.2)

Use similar triangles to find the Iength of the
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Most TV s se ve simi gapes The measure of the diagonal is used to give screen size. Suppose the

dimensions of a 9-inch screen are 5 1/2 inches by 7 1/2 inches. Find the dimensions of an 18-inch TV and a
35-inch TV.
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11) Suppose a person is 300 cm from a camera lens, and
the film is 1.3 cm from the lens. If the person is 1

gm tall, how taII i his |mage on i% 300 OM v 74

12) Suppos-e the ﬁlm 5 1 2 cm from the lens and can have an
image no more than 4.5 cm tall. If the person is 180 cm
tall, how far from the lens can he be for the largest p055|ble
full length image?
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14)  The measures of two supplementary angles are in the ratio 14:31. Find the measure of each angle.
L= €O ’
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15) A 78cm segment is divided into three parts whose lengths are in the ratio 3:4:6. Find the length of each
part of the segment.




day_06_Chapter_8_similarity.notebook April 11, 2016

16) A quadrilateral has a perimeter of 92 cm and one side measures 16 cm.  The lengths of the other three sides
are in the ratio 5:6:8. Find the lengths of the three missing sides.
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17) A ABC ~ADEF; m<A= sl ; m<E= g =
v= 1z = ’
The perimeter of A ABC is 36. B
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